Name ) Date

Class
2@ - Practice Problems I
————

1. Balance the follbwing equation and 6. Balance the following equation and

identify the element oxidized and the
oxidizing agent.

Cu + HNO, - Cu(NO,), + NO, + H,0

Balance the following equation and
identify the element oxidized and the
oxidizing agent. .

Cu + H,80, — CuSO, + S0, + H,0

Balance the following equation and
identify the element oxidized and the
oxidizing agent. The reaction occurs in an
acidic solution.

identify the element oxidized and the
oxidizing agent. The reaction occurs in an
acidic solution.

MnO,” + 1" = MnO, + 10

Balance the following equation and
identify the element oxidized and the
oxidizing agent. The reaction occurs in an
acidic solution. ‘

P+ NO;~ - HZPO,,: + NO

Balance the following equation and

-identify the element oxidized and the

oxidizing agent. The reaction occurs in an
acidic solution.

Fe?* + MnO,~ > Fe3* + Mn2* NO;™+ 1, + 10, + NO,

: i
Balance the following equation and 9. Balance the following equation -and
identify the element oxidized and the identify the element oxidized and the
oxidizing agent. The reaction occurs in an oxidizing agent: The reaction occurs in an
acidic solution. acidic solution.
SO2~ + MnO,” = 30,2~ + Mn2+ I+ ClO-~ 10,7+ CI
Balance the following equation and 10. Balance the following equation and
identify the element oxidized and the- identify the element oxidized and the
oxidizing agent. The reaction occurs in an oxidizing agent. The reaction occurs in an
acidic solution. o acidic solution.
Zn + NOy = Zn®* + N,O 505" + MnO,~ + 50,2 + MnO,
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Balance the following equations in the space provided. i

— _BrOy+ _ Sb* - Br + Sb5*  (in acidic solution)

C,H, +

MnO,~ - Co, + Mn2* (in acidic solution)

__NaOH+__ CalOHjy+___ Ch+__ _ClO;-___ NaclO,

+ _CaCQ, + H,O
__CGOF+___Cr - __ Cr*+_ HCO, (in'acidic solution)
__ Cds)+ —_AgClag) > Cd2+(aq)' +__ Ag@)+ Cl-ag)

MnO, +___ Cl-~ Mn2+ + Cl, (in acidic solution)

Balance the following equation, which occurs in a basic solution.

____MuO; G+ ___ Zn(s) + HLO(M = ___ MnOy(s) + ____ Zn(OH),(s)
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